

Business Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate	*			- At			
Diploma of Business	Adelaide, Brisbane, Melbourne, Sydney, Online	090282F	1	8	\$2092	\$16,730	\$16,730
Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney	0100552	1	8	\$2092	\$16,730	\$16,730
Diploma of Event Management	Adelaide, Brisbane, Melbourne, Sydney, Online	094182M	1	8	\$2092	\$16,730	\$16,730
Diploma of Marketing	Adelaide, Brisbane, Melbourne, Sydney, Online	092485A	વ	8	\$2092	\$16,730	\$16,730
Associate Degree of Business	Adelaide, Brisbane, Melbourne, Sydney, Online	090269C	2	16	\$2092	\$16,730	\$33,460
Bachelor of Business	Adelaide, Brisbane, Melbourne, Sydney, Online	090275E	3	24	\$2092	\$16,730	\$50,190
Bachelor of Business (Entrepreneurship)	Adelaide, Brisbane, Melbourne, Sydney, Online	095229D	3	24	\$2092	\$16,730	\$50,190
Bachelor of Business (Event Management)	Brisbane, Sydney, Online	090278B	3	24	\$2092	\$16,730	\$50,190
Bachelor of Business (Marketing)	Adelaide, Brisbane, Melbourne, Sydney, Online	090279A	3	24	\$2092	\$16,730	\$50,190
Bachelor of Business (Sports Management)	Adelaide, Sydney, Online	090265G	3	24	\$2092	\$16,730	\$50,190
Bachelor of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney	0100551	3	24	\$2092	\$16,730	\$50,190
Bachelor of Commerce	Adelaide, Brisbane, Melbourne, Sydney	088180G	3	24	\$2092	\$16,730	\$50,190

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected



Business Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Postgraduate							
Graduate Certificate of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095349G	0.5	4	\$2,354	\$9,415	\$9,415
Graduate Certificate of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	095351B	0.5	4	\$2092	\$8,750	\$8,750
Graduate Diploma of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095352A	1	8	\$2,354	\$18,830	\$18,830
Graduate Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098258G	1	8	\$2,354	\$18,830	\$18,830
Graduate Diploma of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	090245M	1	8	\$2092	\$16,730	\$16,730
Master of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095353M	1.5	12	\$2,354	\$18,830	\$28,245
Master of Business Administration (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	088149G	2	16	\$2,354	\$18,830	\$37,660
Master of Business Administration (Sports Management)	Online	N/A	1.5	12	\$2,748	\$21,980	\$32,970
Master of Business Administration (Sports Management, Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	0101388	2	16	\$2,748	\$21,980	\$43,960
Master of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098257J	2	16	\$2,354	\$18,830	\$37,660
Master of Engineering Management	Adelaide, Brisbane, Melbourne, Sydney, Online	102618F	2	16	\$2,354	\$18,830	\$37,660
Master of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	095357G	1.5	12	\$2092	\$16,730	\$26,250
Master of Global Project Management (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	090247J	2	16	\$2092	\$16,730	\$35,000
Master of Philosophy	Adelaide, Brisbane, Melbourne, Sydney, Online	096609F	2	N/A	N/A	\$16,030	\$32,060

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Business Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Postgraduate				···			
Master of Professional Accounting	Adelaide, Brisbane, Melbourne, Sydney, Online	095358F	1.5	12	\$2,354	\$18,830	\$28245
Master of Professional Accounting (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	090254K	2	16	\$2,354	\$18,830	\$37660
Master of Business Administration & Master of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	090241D	2	16	\$2092	\$17,500	\$35,000
Master of Business Administration and Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090242C	2	16	\$1,964	\$15,715	\$31,430
Master of Global Project Management and Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090248G	2	16	\$1,964	\$15,715	\$31,430
Doctor of Philosophy	Adelaide, Brisbane, Melbourne, Sydney, Online	096608G	3	N/A	N/A	\$16,030	\$48,090

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected





Design & Creative Technology Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate							
Diploma of 3D Design and Animation	Brisbane, Melbourne, Sydney, Online	103343J	1.5	12	\$1,715	\$13,720	\$20,580
Diploma of Branded Fashion Design	Brisbane, Melbourne, Sydney	N/A	1	8	\$2,572	\$20,580	\$20,580
Diploma of Communication Design	Brisbane, Melbourne, Sydney, Online	090303F	1	8	\$2,572	\$20,580	\$20,580
Diploma of Design	Brisbane, Melbourne, Sydney, Online	094008C	1	8	\$2,572	\$20,580	\$20,580
Diploma of Film and Video	Brisbane, Melbourne, Sydney, Online	103349C	1.5	12	\$1,715	\$13,720	\$20,580
Diploma of Game Design and Development	Brisbane, Melbourne, Sydney, Online	102263F	1	8	\$2,572	\$20,580	\$20,580
Diploma of Graphic Design	Brisbane, Melbourne, Sydney, Online	102489K	1.5	12	\$1,715	\$13,720	\$20,580
Diploma of Interior Design and Decoration	Brisbane, Melbourne, Sydney, Online	102491E	1.5	12	\$1,715	\$13,720	\$20,580
Diploma of Photography and Photo Imaging	Brisbane, Melbourne, Sydney, Online	102490F	1.5	12	\$1,715	\$13,720	\$20,580
Diploma of Software Engineering	Melbourne, Sydney, Online	102264E	1	8	\$2,572	\$20,580	\$20,580
Diploma of UX and Web Design	Brisbane, Melbourne, Sydney	103346F	1.5	12	\$1,715	\$13,720	\$20,580
Associate Degree of 3D Design and Animation	Melbourne, Sydney, Online	103342K	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Branded Fashion Design	Brisbane, Melbourne, Sydney	090286B	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Communication Design	Brisbane, Melbourne, Sydney, Online	090287A	2	16	\$2,572	\$20,580	\$41,160

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected





Design & Creative Technology Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate							
Associate Degree of Film and Video	Sydney, Online	103348D	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Game Design and Development	Melbourne, Sydney, Online	102265D	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Interior Design (Commercial)	Brisbane, Melbourne, Sydney, Online	090291E	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Interior Design (Residential)	Brisbane, Melbourne, Sydney, Online	090292D	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Software Engineering (Artificial Intelligence)	Melbourne, Sydney, Online	102267B	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of Software Engineering (Game Programming)	Melbourne, Sydney, Online	102266C	2	16	\$2,572	\$20,580	\$41,160
Associate Degree of UX and Web Design	Brisbane, Sydney, Online	103345G	2	16	\$2,572	\$20,580	\$41,160
Bachelor of 3D Design and Animation	Melbourne, Sydney, Online	103341M	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Branded Fashion Design	Brisbane, Melbourne, Sydney	090293C	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Communication Design	Brisbane, Melbourne, Sydney, Online	090295A	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Film and Video	Sydney, Online	103347E	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Game Design and Development	Melbourne, Sydney, Online	095346K	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Interior Design (Commercial)	Brisbane, Melbourne, Sydney, Online	090301G	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Interior Design (Residential)	Brisbane, Melbourne, Sydney, Online	090302G	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Software Engineering (Artificial Intelligence)	Melbourne, Sydney, Online	099352B	3	24	\$2,572	\$20,580	\$61,740
Bachelor of Software Engineering (Game Programming)	Melbourne, Sydney, Online	093341J	3	24	\$2,572	\$20,580	\$61,740
Bachelor of UX and Web Design	Brisbane, Sydney, Online	103344H	3	24	\$2,572	\$20,580	\$61,740

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected





Design & Creative Technology Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate							
Bachelor of Business and Bachelor of Branded Fashion Design	Brisbane, Melbourne, Sydney	090255J	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business and Bachelor of Communication Design	Brisbane, Melbourne, Sydney	090257G	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business & Bachelor of Digital Media (3D Design & Animation)	Melbourne, Sydney	090256G	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business & Bachelor of Digital Media (Film & Video Design)	Sydney	090259E	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business & Bachelor of Digital Media (Interaction Design)	Sydney	090258F	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business and Bachelor of Interior Design (Commercial)	Brisbane, Melbourne, Sydney, Online	090260A	4	32	\$2,572	\$20,580	\$71,400
Bachelor of Business and Bachelor of Interior Design (Residential)	Brisbane, Melbourne, Sydney, Online	090262K	4	32	\$2,572	\$20,580	\$71,400

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected





Design & Creative Technology Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Postgraduate							
Graduate Certificate of Design	Sydney, Online	095350C	0.5	4	S2,275	\$9100	\$9100
Graduate Certificate of Digital Transformation and Creative Intelligence	Online	N/A	0.5	4	\$2,099	\$8,394	\$8,394
Graduate Certificate of Software Engineering	Adelaide, Melbourne, Sydney, Online	N/A	0.5	4	\$2,739	\$10,955	\$10,955
Graduate Certificate in UX and Web Design	Sydney, Online	095348G	0.5	4	\$2,739	\$10,955	\$10,955
Graduate Diploma of Design	Sydney, Online	086073E	1	8	\$2,275	\$18,200	\$18,200
Graduate Diploma of Software Engineering (Artificial Intelligence)	Adelaide, Melbourne, Sydney, Online	N/A	1	8	\$2,739	\$21,910	\$21,910
Graduate Diploma of Software Engineering (Cloud Computing)	Adelaide, Melbourne, Sydney, Online	N/A	1	8	\$2,739	\$21,910	\$21,910
Master of Design	Sydney, Online	095356G	1.5	12	\$2,275	\$18,200	\$27,300
Master of Design (Advanced)	Sydney, Online	088476C	2	16	\$1,960	\$15,680	\$31,360
Master of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096609F	2	N/A	N/A	\$16,030	\$32,060
Master of Software Engineering (Artificial Intelligence, Advanced)	Adelaide, Melbourne, Sydney, Online	099353A	2	16	\$2,739	\$21,910	\$43,820
Master of Software Engineering (Cloud Computing, Advanced)	Adelaide, Melbourne, Sydney, Online	099355K	2	16	\$2,739	\$21,910	\$43,820
Doctor of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096608G	3	N/A	N/A	\$16,030	\$48,090

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected



Education Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Postgraduate							
Graduate Certificate of Education (Autism)	Melbourne, Sydney, Online	095592G	0.5	4	\$2,598	\$7,595	\$7,595
Graduate Certificate of Education (Innovation and Change)	Online	095591G	0.5	4	\$2,598	\$7,595	\$7,595
Graduate Certificate of Education (Learning Differences)	Online	095590J	0.5	4	\$2,598	\$7,595	\$7,595
Graduate Certificate of Education (Mental Health)	Online	095589B	0.5	4	\$2,598	\$7,595	\$7,595
Graduate Certificate of Education (Special Education)	Online	095588C	0.5	4	\$2,598	\$7,595	\$7,595
Master of Education (Reading and Literacy)	Online	095585F	1	8	\$2,598	\$15,190	\$15,190
Master of Education (Special Education)	Melbourne, Sydney, Online	095587D	1.5	12	\$2,598	\$15,190	\$22,785
Master of Education (Special Education, Advanced)	Melbourne, Sydney, Online	095695M	2	16	\$2,598	\$15,190	\$30,380
Master of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096609F	2	N/A	N/A	\$16,030	\$32,060
Doctor of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096608G	3	N/A	N/A	\$16,030	\$48,090

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected



Health Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate	-1004 A-100-010 A-10040010	W. ACOUNTY OF THE PARTY OF THE	***************************************		Control of the Contro	0001003 0000000000000000000000000000000	
Diploma of Beauty and Spa Practice	Brisbane, Online	094184J	1	8	\$2,372	\$18,970	\$18,970
Diploma of Counselling and Communication Skills	Online	094183K	1	8	\$2,065	\$16,520	\$16,520
Diploma of Health and Wellbeing	Online	N/A	1	8	\$2,450	\$19,600	\$19,600
Diploma of Health Science	Brisbane, Melbourne, Sydney, Online	099640E	1	8	\$2,004	\$16,030	\$16,030
Bachelor of Applied Public Health	Adelaide, Online	088181G 084768A	3	24	\$2,468	\$19,740	\$59,220
Bachelor of Applied Social Science (Community Services)	Adelaide, Sydney, Online	097401C	3	24	\$1,978	\$15,820	\$47,460
Bachelor of Applied Social Science (Counselling)	Sydney	085175G	3	24	\$1,978	\$15,820	\$47,460
Bachelor of Health Science (Aesthetics)	Brisbane, Online	093345E	3	24	\$2,293	\$18,340	\$59,220
Bachelor of Health Science (Clinical Nutrition)	Brisbane, Melbourne, Sydney	099642C	3	24	\$2,004	\$16,030	\$48,090
Bachelor of Health Science (Naturopathy)	Melbourne, Sydney	099643B	4	32	\$2,004	\$16,030	\$64,120
Bachelor of Health Science (Chinese Medicine)	Melbourne	102914J	4	32	\$2,004	\$16,030	\$64,120
Bachelor of Health Science (Western Herbal Medicine)	Melbourne, Sydney	099641D	3	24	\$2,004	\$16,030	\$48,090
Bachelor of Nutrition	Online	N/A	3	24	\$2,380	\$19,040	\$57,120

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected



Health Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Postgraduate							
Graduate Certificate in Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097405K	0.5	4	\$2,065	\$8,260	\$8,260
Graduate Diploma of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097406J	1	8	\$2,065	\$16,520	\$16,520
Master of Counselling	Adelaide, Sydney	102916G	1.5	12	\$1,987	\$15,890	\$23,835
Master of Counselling (Advanced)	Adelaide, Sydney	102915H	2	16	\$1,987	\$15,890	\$31,780
Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097404M	1.5	12	\$2,083	\$16,660	\$24,990
Master of Public Health (Advanced)	Adelaide, Brisbane, Melbourne, Sydney	095594E	2	16	\$2,083	\$16,660	\$33,320
Master of Business Administration and Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090242C	2	16	\$1,964	\$15,715	\$31,430
Master of Global Project Management and Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090248G	2	16	\$1,964	\$15,715	\$31,430
Master of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096609F	2	N/A	N/A	\$16,030	\$32,060
Doctor of Philosophy	Adelaide, Brisbane Melbourne, Sydney, Online	096608G	3	N/A	N/A	\$16,030	\$48,090

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected



Health Courses

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Number of Subjects	2021 Standard Subject Fee (\$AUD)*	Indicative 2021 Annual Fees (\$AUD)*	Indicative Total Course Tuition Fees (\$AUD)*
Undergraduate							
Bachelor of Health Science (Clinical Myotherapy)	Melbourne	084579F	3	24	\$2,065	\$16,520	\$49,560
Diploma of Nursing	Adelaide, Brisbane, Melbourne, Sydney	095475A	1.66	13	\$1,865	\$14,840	\$22,260

Think: Colleges Pty LTD, ABN 93050 049 299 PRV12058, RT00269, CRICOS 00246M T/A Southern School of Natural Therapies Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RT041343 CRICOS 03389E

^{*}All prices are indicative. Full 2021 prices are dependent on actual subjects selected